<UGUESINFE3NFL

<unftud N 6

<< Junwupnipyjubl

2003 pywlwbdh ntyutaiptph 4-h

N 1766-U npnpdwlt

au 22|

<U3UUSuvh <UL/ rINESNFE-3UL ULAUUEJPLh URMID ULSWGULP G3NFILEUETL <UUTUW3VLP XNIU3hY
HNUEP UNGUESNFE-83UL 64 LUGHHU RS URUDLY 2003 4XUUE LR @OCPLP 20-P HCOFEB-SUUR

INN | Lywwnwlw | Innuntupp,

|6] Cunu-

|n/Yy |3hu vyw|gnpoéwnwlwu |w|Jdtup

UbhwywunLpjwu uncpjbymp®

|

|
| Juwynip- [uwuwyne- 8] (2+3+4]33 133 | hwdwjupwihu | yGwnw- |
| [3nLup  [pINLUP 14| +8+12) [pwnu- |hpw| [Yuwu |
| | | lw] [pwgh- |du-| | |
| | | lal [utph  |pw-|punw- [wupqwd|dun- |oguuw|punw- |
| | | Ihl | [Uw- |UGUp  [wuhw- [dwyw|gqnpd|Utup |
| | | Inl | [Ywu| (5+6+ [wnLjg|inip|dwu |(9+10]
| | | lol | |wua|+7)  [oquu-[jwdp|lb  [+11) |
| [ | I | [wug| [gnné- [up- |dup-| I
| | | I I [ [Uwu  [qws | dwyu| |
| I | |1 | [ | | [1nLp| |
| | | Il | [ I | [Jwdp| |
| I | I I (. | I [ ewn- | |
| | | Il | [ | | [us | |
| | | [ | || | | ] [—I
| | u R e 11 2 131 4 | | 61 71 8 |
| —] | -1 | J—| I P | R
| T I |quptiwhnn | [296.00]|158.30] |137.70] | | | |
|—| 1. | -] | [ —] | | Sy —
[1.2 [93ninu- |puquudyw | | | [ | | | | |
| [unGuw- |wuy. I I (. I | | I |
| [Yuu [ounuwdtup | | | [ | [ | | |
S | [ | ] | S| | NS —
11.2.] [win pyned” | | | [ | | | | |
(R [yan. wigh | | | [ | | | I |
| S— | |-l [ |—| | N | (AN
11.2.] [hwnnnh wigh| | | [ | | | | |
2| | 1 | [ | | | | |
|—I | - [ — | | S r—
[1.2.] [wyt I I [ | | [ | |
3 1 [pwquuwdyw | | | (. | | | | |
| | -] | |—1 | — | ——
[1.3 1] [unwnhuwpp Il | [ | | I | |
el | =l | | | PR U PR
1.4 ] |wpnn (! | [ | | | | |
|- | (. | [—I | S| RS SRR
11.5 | Jwyp | |147.40| | | 147 .40| | | | |
| I [hnnuntuptp | | | (. I | I | |
|- | [ | ] | S [ [T
11 | | punwdtup | |1443.40]158.30] 1285.10] | | | |
R | (-] | |l I S S S
2.1 ] 2. [puwybirh | 196.90 [96.90 | | | I I | |
| [Fuwyu- |Ywnnig. (! | [ | [ | | |
| Idwiptph]| Jozl | [—1 | ||
12.1.] |win pyned” | |96.90 |96.90 | | | | | | |
(R [nuwdtna Il | [ I I | | |
| — | (| | | | o [ (RS,
12.1.] |wigbgnpow- | | | (. | | I | |
12| [Yuwu (wdwnw-| | | [ | | I | |
| | [ungwipu) | | | (. | | | | |
[ | || | — | m— |
12.2 | | hwuwpuwy . | 11.80 | | 10.80 | | | |1.00 |
| I [Ywnniguyuw. | | | [ | | I | |
[ | [ | [—I | S PR P—
2.3 ] [uwnp Il | [ I | | | |
| | [Yuoniguy. || | [ | | | | |
| | |1 | - | el e ]
12.4 | | punhwuncp | [12.70 | | [12.10 | | | | |
| | | oquugnpédwu]| | | [ | | | | |
| S | - | ] | | S AU PR
2.5 | w3y hnntp | | | [ | | | | |

I | |

(htijuwpbtinny)



o o
o 0 0
O .
- (0)] (0)]
o o o
(o)] o (e)] (] o o o o o
N~ & = < [Tq] O (o]
~N . ~N < .
— — o~ o~ o ~N ~N m m
| _ _ | _ _ _ _ _ _ _ _ _ | | “ “ _ _ |
o
(0)]
O
(e)]
o
(e0] o o o o
- o (e)] (] o (0)] o o o
o [ — . O (o]
— - (o] 4 . — N
— — o~ o~ o ~N ~N m m
| | | | | | | | | | |
1 2
2 =] 3 o . 5
L= = 3 = ' S = = '
cl 3 3 2 c O cl c c . i 3 - 3 . cl cl
=] = s - 3 C pen ] = = v = = c o ' = c - 383 & =} u]
15 - 3 =] Q. c 10 13 =) ~ 3 10 - =0 C 3 il 3 =] - 15 15
= c d = e =) c o = o =) 4 s | 3 o —~ 15 () o 3 = = = a
= m Cc 4 3 5 o 5 3 3 = £ = ] c 3 3 3 13 53 = 3 = - o = = 3 3 3
fod el on | c s c c S fems 15 M 3 =] = CH e = o oF g o (= =l c O = s 3 ey (= =
=) c L m 3 L = O = — 3 3 c c - =) =] mnc c 3 o 3 ac 3 = 3 ~N =] ou =]
[ 3 o g 3 s 5 cl O cl i I S = 13 o cL 3 3 3 o 3 = 3 c = E e | foud | cl 3
' ' o | v - 1 ' 3 '
- QL E] L5 o o - = 3 aL 0 1+ 3 3
c S = I o 3 Cc 4 3 bl 4 3 M o
m 1 o+ 3J 15 3 0 c 83 I3 5 & c = = I c 3 & =3
SR = =S N — el — N = -3 0 3 £ F - S £ o c o - 5 3 = 5
m c 3 Cc M3 O cC < 50 £ c 3 n 3 3 c 3 L O 3 ~N C ~ 9
O 5 c & o o u s s 5O r 30 s 5 S5 D =3
~ T T B ~ _z ;3 . - T Al. =~ e e ~
~ m m m _3 _3 < < < _4 _4 n n — n N _53 _5 _5 _5 _5 O N~



o
o o —
) O -
. <
m m o~
o (@]
o o N~ <
o [Te] o " =
- ) o~ (e)] [e0]
(e)] o~ o ] <
| | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | |
o
~
n
0
~N
(@] (@]
o o mM N~
o o L o .
(o] . . ~N m N~
. fo0] — . ~N ~
m ()] ~N o — N~
| | | | | | | | | | |
. 1
= (A = 3

=g c 5 c o 15 =]

= 15 cl =2 1 cl c =) c o cl

o aL [ =] c pu] - =] 15 S 13 o =]

3 c c 15 3 aL 3 c 15 =) - =) e e} 13 75
= — 3 o = = cL (=)} o =] =] c V] 3 L =} »
L 15 = = 3 L = = = . 3 - o o Lol 3 +
(= c =] [= — c =] 3 15 3 s ~ feare c 3 = —~ c C
= 3 c c m - 15 c o c c M - = -0 3 m C = L +
[CH =3 =, 3 3 cl o o —~ o £ 3 cl 3 3 o 3 o i m_ﬂ

1 nr O

= =} +

L -4 5 . |tg]

m c c od +

P 3 £ M - <

il 0 o 3 3 D+

m (9] € s o m

B T e R T e e e T e T R
~N m 0 — ~N m n — ~N m =t 0

(o |s o o | B | EE. | o

“ u . —

NOIN IR N N I~ o o o o o lo lo lo la lo lao o <

UGhwywunLpjwu uncpjGywmp®

yGnwywu

| omwptpypjw

| Jupawwineejwdp |wEwnnLpynLuutph,

| JupdwwinLpjwdp | ognugnpédwu L

| mpqwod

oguwgnnoUdwu |

npywd

wuhwwnnt jg

| ywqUwytpynrpjnLuutbph |

| sipywd

12

11

10




	6.1
	6.2
	6.3

